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This packet includes four sections that cover the major content of 7th grade math.  Each section 
includes four pages of notes and practice for each topic.  For additional support, visit KCS TV on 
YouTube for instructional videos that accompany each section.  
 
 
The following content is included in this packet: 
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Equations 

Activity 
3 

Theoretical 
Probability of 
Simple Events 

Multiplying 
Integers 
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Writing and 
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Inequalities 
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Solving Two-Step 
Inequalities 
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One-Step Equations with Rational Coefficients 
Reteach 

Using Addition to Undo Subtraction 
Addition “undoes” subtraction. Adding the 
same number to both sides of an equation 
keeps the equation balanced. 

 x − 5 = −6.3 
x − 5 + 5 = −6.3 + 5 
 x = −1.3 

Using Subtraction to Undo Addition 
Subtraction “undoes” addition. Subtracting a 
number from both sides of an equation 
keeps the equation balanced. 

  
3

15
4

n + = −  

 
3 3 3

15
4 4 4

n + − = − −  

 
3

15
4

n = −  

Be careful to identify the correct number that is to be added or 
subtracted from both sides of an equation. The numbers and variables 
can move around, as the problems show. 

Solve using addition or subtraction. 

 1. 
7

6
8

m= −  2. 3.9 + t = 4.5 3. 10 = −3.1 + j 

 ________________________   _______________________   ________________________  

Multiplication Undoes Division 
To “undo” division, multiply both sides of an 
equation by the number in the denominator of 
a problem like this one. 

 6
3
m =  

3 3 6
3
m× = ×  

 m = 18 

Division Undoes Multiplication 
To “undo” multiplication, divide both sides of 
an equation by the number that is multiplied 
by the variable as shown in this problem. 

 4.5p = 18 

4.5 18
4

4.5 4.5
p = =  

Notice that decimals and fractions can be handled this way, too. 

Solve using division or multiplication. 

 4. 5
2.4
y =  5. 0.35w = −7 6. 1

6
a− =  

 ________________________   _______________________   ________________________  
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Solving Two-Step Equations 
Reteach 

Here is a key to solving an equation. 

Example: Solve 3x − 7 = 8. 

Step 1: • Describe how to form the expression 3x − 7 from the variable x: 
 • Multiply by 3. Then subtract 7. 

Step 2: • Write the parts of Step 1 in the reverse order and use inverse operations: 
 • Add 7. Then divide by 3. 

Step 3: • Apply Step 2 to both sides of the original equation. 
 • Start with the original equation. 3x − 7 = 8 
 • Add 7 to both sides. 3x = 15 
 • Divide both sides by 3. x = 5 

Describe the steps to solve each equation. Then solve the equation.  
 1. 4x + 11 = 19 

 _________________________________________________________________________________________  

 2. −3y + 10 = −14 

 _________________________________________________________________________________________  

 3. 11
3

r −  = −7 

 _________________________________________________________________________________________  

 4. 5 − 2p = 11 

 _________________________________________________________________________________________  

 5. 2
3

z  + 1 = 13 

 _________________________________________________________________________________________  

 6. 17
9

w −  = 2 

 _________________________________________________________________________________________  
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Writing and Solving One-Step Inequalities 
Reteach 

When solving an inequality, solve it as if it is an equation. Then decide 
on the correct inequality sign to put in the answer.  

When adding or subtracting a number from each side of an inequality, 
the sign stays the same. When multiplying or dividing by a positive 
number, the sign stays the same. When multiplying or dividing by a 
negative number, the sign changes. 

x +  5 >  −5 

x +  5 − 5 >  −5 − 5 

x >  −10 

Check:  
Think: 0 is a 
solution because  
0 >  −10. Substitute 
0 for x to see if 
your answer 
checks. 

x +  5 >  −5 

0 +  5 ? −5 

5 >  −5 9 

x − 3 ≤ 8 

x − 3 +  3 ≤ 8 +  3 

x ≤ 11 

Check: 
Think: 0 is a 
solution because  
0 ≤ 11. Substitute 0 
for x to see if your 
answer checks. 

x − 3 ≤ 8 

0 − 5 ? 8 

−5 ≤ 8 9 

 −2x ≥ 8 

2 8
2 2

− ≤
− −

x  

 x ≤ −4 

Check: 
Think: −6 is a solution 
because −6 ≤ −4. 
Substitute −6 for x to see 
if your answer checks. 

−2x ≥ 8 

−2 • −6 ? 8 

12 ≥ 8 9 

3
x  <  −6 

( ) (3)
3
x  <  (−6)(3) 

 x <  −18 

Check: Think: −21 is 
a solution because  
−21 <  −18. 
Substitute −21 for x 
to see if your 
answer checks. 

3
x  <  −6 

21
3

−  ? −6 

−7 <  −6 9 

Solve each inequality. Check your work. 
 1. n +  6 ≥ −3 2. −2n <  −12 

 ________________________________________   ________________________________________  

 3. 
3
n  ≤ −21  4. n − (−3) ≥ 7 

 ________________________________________   ________________________________________  

 5. −15 +  n <  −8  6. 6n >  −12 

 ________________________________________   ________________________________________  

 7. −6 +  n <  −9  8. 
6

n
−

 >  −2      

 ________________________________________   ________________________________________  
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Solving Two-Step Inequalities 
Reading Strategies: Analyzing and Interpreting Information 

Real-world, two-step inequalities involve data that has to be analyzed and 
interpreted. 

Example 
An orchard has 300 fruit trees, but only 250 bore fruit this year.  
How many days will it take to pick the fruit if pickers pick at most  
30 trees per day? 

Solution 
Step 1 List and analyze the information that is given. 

• 250 trees in all to pick 

• The pickers pick at most 30 trees per day. 

Step 2 Write and solve the inequality. 

30d d 250 

d d 8 1
3

days 

Step 3 Interpret the answer. 

The answer will be either 8 or 9 days. However, notice that the inequality is 
“less than or equal to.” 

The pickers will pick at most 240 trees in 8 days. They will not be able to 
pick all 250 trees in 8 days, and will need to work for 9 days. 

List and analyze the information in each problem. Then, write an 
inequality, and solve and interpret the answer. 
 1. The community food bank has 750 meals to distribute over a 12-hour 

period. They need to save at least 50 of the meals for the volunteers. 
How many people can be served by the food bank in 10 hours, not 
including the volunteers? 

 _________________________________________________________________________________________  

 _________________________________________________________________________________________  

 2. A vegetable-oil recovery plant has already recycled 1,400 liters out  
of 2,500 liters of used oil. If the plant can recycle 24 liters of used oil 
per hour, about how many hours will it take to recycle what is left? 

 _________________________________________________________________________________________  

 _________________________________________________________________________________________  
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Answer Key 
 
 
IV. Expressions, Equations, & Inequalities 
 
Activity 1: One-Step Equations with Rational Coefficients 
 
1. m = 6  7/8  
2. t = −0.6  
3. j = 13.1  
4. y = 12  
5. w = −20  
6. a = −6  
 
Activity 2: Solving Two-Step Equations 
 
1. Subtract 11 from both sides. Then divide both sides by 4. x = 2  
2. Subtract 10 from both sides. Then divide both sides by −3. y = 8  
3. Multiply both sides by 3. Then add 11 to each side. r = −10  
4. Subtract 5 from each side. Then divide both sides by −2. p = −3  
5. Subtract 1 from each side. Then multiply both sides by 3/2 (or divide both sides by 2/3).  
z = 18  
6. Multiply both sides by 9. Then add 17 to each side. w = 35  
 
Activity 3: Writing and Solving One-Step Inequalities 
 
1. n ≥ −9  
2. n > 6  
3. n ≤ −63  
4. n ≥ 4  
5. n < 7  
6. n > −2  
7. n < −3  
8. n < 12 
 
Activity 4: Solving Two-Step Inequalities 
 
1. 12n ≤ (750 − 50) 10  
12n ≤ 7000  
n ≤ 583.3  
n ≤ 583.3, so 583 people can be given meals in 10 hours  
2. 24h > 2,500 − 1,400  
24h > 1,100  
h > 45.8  
h > 45.8, so it will take about 46 hours to recycle what is left of 2,500 liters of used oil.  
 

ANNE STINNETT



	1-3-DUMA-7_MNLEDI066380_U1M1L1PA-D
	0001-HS-7_MFLEDI066342_U1M1L1PAB
	0002-HS-7_MFLEDI066342_U1M1L1PC
	0003-HS-7_MFLEDI066342_U1M1L1PD

	4-DUMA-7_MNLEDI066380_U1M1L1RT
	5-DUMA-7_MNLEDI066380_U1M1L1RS
	6-DUMA-7_MNLEDI066380_U1M1L1EL
	7-9-DUMA-7_MNLEDI066380_U1M1L2PA-D
	0007-HS-7_MFLEDI066342_U1M1L2PAB
	0008-HS-7_MFLEDI066342_U1M1L2PC
	0009-HS-7_MFLEDI066342_U1M1L2PD

	10-DUMA-7_MNLEDI066380_U1M1L2RT
	11-DUMA-7_MNLEDI066380_U1M1L2RS
	12-DUMA-7_MNLEDI066380_U1M1L2EL
	13-15-DUMA-7_MNLEDI066380_U1M1L3PA-D
	0013-HS-7_MFLEDI066342_U1M1L3PAB
	0014-HS-7_MFLEDI066342_U1M1L3PC
	0015-HS-7_MFLEDI066342_U1M1L3PD

	16-DUMA-7_MNLEDI066380_U1M1L3RT
	17-DUMA-7_MNLEDI066380_U1M1L3RS
	18-DUMA-7_MNLEDI066380_U1M1L3EL
	19-21-DUMA-7_MNLEDI066380_U1M1L4PA-D
	19-DUMA-7_MFLEDI066342_U1M1L4PAB
	20-DUMA-7_MFLEDI066342_U1M1L4PC
	21-DUMA-7_MFLEDI066342_U1M1L4PD

	22-DUMA-7_MNLEDI066380_U1M1L4RT
	23-DUMA-7_MNLEDI066380_U1M1L4RS
	24-DUMA-7_MNLEDI066380_U1M1L4EL
	25-DUMA-7_MNLEDI066380_U1M1CH
	26-28-DUMA-7_MNLEDI066380_U1M2L1PA-D
	26-DUMA-7_MFLEDI066342_U1M2L1PAB
	27-DUMA-7_MFLEDI066342_U1M2L1PC
	28-DUMA-7_MFLEDI066342_U1M2L1PD

	29-DUMA-7_MNLEDI066380_U1M2L1RT
	30-DUMA-7_MNLEDI066380_U1M2L1RS
	31-DUMA-7_MNLEDI066380_U1M2L1EL
	32-34-DUMA-7_MNLEDI066380_U1M2L2PA-D
	0032-HS-7_MFLEDI066342_U1M2L2PAB
	0033-HS-7_MFLEDI066342_U1M2L2PC
	0034-HS-7_MFLEDI066342_U1M2L2PD

	35-DUMA-7_MNLEDI066380_U1M2L2RT
	36-DUMA-7_MNLEDI066380_U1M2L2RS
	37-DUMA-7_MNLEDI066380_U1M2L2EL
	38-40-DUMA-7_MNLEDI066380_U1M2L3PA-D
	38-DUMA-7_MFLEDI066342_U1M2L3PAB
	39-DUMA-7_MFLEDI066342_U1M2L3PC
	40-DUMA-7_MFLEDI066342_U1M2L3PD

	41-DUMA-7_MNLEDI066380_U1M2L3RT
	42-DUMA-7_MNLEDI066380_U1M2L3RS
	43-DUMA-7_MNLEDI066380_U1M2L3EL
	44-DUMA-7_MNLEDI066380_U1M2CH
	45-47-DUMA-7_MNLEDI066380_U1M3L1PA-D
	45-DUMA-7_MFLEDI066342_U1M3L1PAB
	46-DUMA-7_MFLEDI066342_U1M3L1PC
	47-DUMA-7_MFLEDI066342_U1M3L1PD

	48-DUMA-7_MNLEDI066380_U1M3L1RT
	49-DUMA-7_MNLEDI066380_U1M3L1RS
	50-DUMA-7_MNLEDI066380_U1M3L1EL
	51-53-DUMA-7_MNLEDI066380_U1M3L2PA-D
	51-DUMA-7_MFLEDI066342_U1M3L2PAB
	52-DUMA-7_MFLEDI066342_U1M3L2PC
	53-DUMA-7_MFLEDI066342_U1M3L2PD

	54-DUMA-7_MNLEDI066380_U1M3L2RT
	55-DUMA-7_MNLEDI066380_U1M3L2RS
	56-DUMA-7_MNLEDI066380_U1M3L2EL
	57-59-DUMA-7_MNLEDI066380_U1M3L3PA-D
	0057-HS-7_MFLEDI066342_U1M3L3PAB
	0058-HS-7_MFLEDI066342_U1M3L3PC
	0059-HS-7_MFLEDI066342_U1M3L3PD

	60-DUMA-7_MNLEDI066380_U1M3L3RT
	61-DUMA-7_MNLEDI066380_U1M3L3RS
	62-DUMA-7_MNLEDI066380_U1M3L3EL
	63-65-DUMA-7_MNLEDI066380_U1M3L4PA-D
	0063-HS-7_MFLEDI066342_U1M3L4PAB
	0064-HS-7_MFLEDI066342_U1M3L4PC
	0065-HS-7_MFLEDI066342_U1M3L4PD

	66-DUMA-7_MNLEDI066380_U1M3L4RT
	67-DUMA-7_MNLEDI066380_U1M3L4RS
	68-DUMA-7_MNLEDI066380_U1M3L4EL
	69-71-DUMA-7_MNLEDI066380_U1M3L5PA-D
	69-DUMA-7_MFLEDI066342_U1M3L5PAB
	70-DUMA-7_MFLEDI066342_U1M3L5PC
	71-DUMA-7_MFLEDI066342_U1M3L5PD

	72-DUMA-7_MNLEDI066380_U1M3L5RT
	73-DUMA-7_MNLEDI066380_U1M3L5RS
	74-DUMA-7_MNLEDI066380_U1M3L5EL
	75-77-DUMA-7_MNLEDI066380_U1M3L6PA-D
	75-DUMA-7_MFLEDI066342_U1M3L6PAB
	76-DUMA-7_MFLEDI066342_U1M3L6PC
	77-DUMA-7_MFLEDI066342_U1M3L6PD

	78-DUMA-7_MNLEDI066380_U1M3L6RT
	79-DUMA-7_MNLEDI066380_U1M3L6RS
	80-DUMA-7_MNLEDI066380_U1M3L6EL
	81-DUMA-7_MNLEDI066380_U1M3CH
	308-325-DUMA-7_MNLEDI066380_U01_AK
	0308-HS-7_MFLEDI066342_U01_AK
	0309-HS-7_MFLEDI066342_U01_AK
	0310-HS-7_MFLEDI066342_U01_AK
	0311-HS-7_MFLEDI066342_U01_AK
	0312-HS-7_MFLEDI066342_U01_AK
	0313-HS-7_MFLEDI066342_U01_AK
	0314-HS-7_MFLEDI066342_U01_AK
	0315-HS-7_MFLEDI066342_U01_AK
	0316-HS-7_MFLEDI066342_U01_AK
	0317-HS-7_MFLEDI066342_U01_AK
	0318-HS-7_MFLEDI066342_U01_AK
	0319-HS-7_MFLEDI066342_U01_AK
	0320-HS-7_MFLEDI066342_U01_AK
	0321-HS-7_MFLEDI066342_U01_AK
	0322-HS-7_MFLEDI066342_U01_AK
	0323-HS-7_MFLEDI066342_U01_AK
	0324-HS-7_MFLEDI066342_U01_AK
	0325-HS-7_MFLEDI066342_U01_AK




